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Sample Calculation

Given: the heat flux at the floor, y0, is 60% of
the maximum heat flux, and the elevation of
maximum heat flux, zmax, is 40% of the furnace
height; Find: the heat flux, y, at the top of the

furnace, z = 1.

Solution: 1.) Set zmax top = 0.40 and construct a line
through the curve z =1 to intersect bottom line.
2.) From the intersection point on the on the bottom
line through zmax, center = 0.40, intersect the top line.
[Note: the top and bottom lines may be extended
beyond the boundaries of the page if required.]
3.) Construct a third line from the intersection on the
Top Line through 𝑦! = 0.60 to find 𝑦 ≈ 0.43 .
Therefore, the heat flux (y) at the top of the furnace is
43% of the maximum heat flux. By these means, the
curve, z, indexes the heat flux for any elevation.

Heat Flux as a Function of y0 and zmax
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